Automatic procedure to align a DAC on 11.3.1 
updated 08/24/2005
1. Put DAC on kinematic mount, Be-backing plate (cylinder-side) facing downstream.
2. Put CCD translation to +140mm (in labview prog “Bl main control”).
3. Put Si-diode in (use electric switch next to TV monitors)

4. Put Beamstop out (X= -5,Y= -2)

5. Open the Bruker shutter 
A) Align DAC on beam
1. In “Motor Monitor” use ‘translationX’ and ‘HP translationY’ to jog the cell on beam-position as indicated by crosshairs on TV monitor.

2. Open the DAC centering program (Motor -> Align HP DAC)

3. Select ‘Align X and Y only’ (right hand side of window.) 
4. Motor motions are relative to current location.  Set the following parameters: 

· “X Delta” = 0.200mm (present position can be read in Motor monitor).
· “Y Delta” = 0.200mm (present position can be read in Motor monitor).
· “X increment” = 0.020mm (in a second iteration, this should be set to 0.01 mm).
· “Average time” = 0.5 s (in a second iteration, this should be set to 1.0sec).
5. Click on ‘Start Scan’
6. Once a scan is finished, the program will place the red cursor at the peak’s center of FWHM   -- it is best to select the center the program had calculated. 
7. Click on “Select Peak”

8. When finished, you may need to run a 2nd iteration with refined scan parameters (Delta, Increment). 
Your sample is now aligned on the beam. 

Next thing is to move the sample on the rotation axis along ‘HP Sz’ (i.e. along the beam). That way the sample will aligned on the center of rotation of the mount, which gives our reference point. 

B) Align DAC on rotation axis (can only be done when step A is finished)
1. Select ‘Align Sample on Rotation Axis’ 

2. The Motor motions are relative to current location.  Set the following parameters: 

· X Delta = 0.200mm (present position can be read in Motor monitor).

· Offset Angle = 3 deg. 
· Increment = 0.02 mm (in a second iteration, this should be set to 0.01 mm.

      3. Click on “Start Scan” 
      4. Click “Select Peak”. Each time it is very important to have the program select the      center of the peak. The routine performs 2 scans, at rotation angles positive “+Theta” and negative “-Theta”. After the 2nd scan, the routine proposes a correction shift along Z axis (HP Sz) and asks you to accept or reject. You will normally accept. After this, the routine drives back to 0 deg. rotation. If the suggested correction was too large (i.e. > 100 (m), do a 2nd iteration of that process using a larger angle (5, 10, or 12 deg.) until you get to a Z offset <40 (m. Beware that too large angles can cause beam-clipping problems with many cells. This will make the centering impossible.
C) Final X-Centering
After you have aligned along the Z-axis, you will want to do one last check in   

the x-direction at 0 deg.

1. In “DAC centering .vi”, select ‘Align X Only” 
2. The Motor motions are relative to current location.  Set the following parameters: 

    “X Delta” = 0.200mm (present position can be read in Motor monitor).

3. Click on “Start Scan”

4. Click on “Select Peak”

Your sample should now be aligned.  If you wish, you may double-check by rotating ‘HP Sample Rotation’ and watching the Ortec ratemeter.  The count rate should stay constant.  
When done, to collect data do:
1. Close Bruker shutter

2. Put the Si diode out

3. Put the beamstop in  (X=0,Y=0)

